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3. Which of the following can be a number 3. Ffaf@a § ¥ #19 d ¥&nm 24 F Rursa
divisible by 247 B HPd 8?2

a) 43215604 a) 4321

b) 2561284 b) 2561284
\})/1362430 e 1362480)

d) None of these d) &9H & &g 781
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4.Foran bedivisiblebyas.itshould 4. & @ #1 88 | faursy g7 & fag, g
be ? g afge 2

a) Divisible by 22 and 8 a) 223 8 & fRAursy

b) Divisible by 11 and 8 b) 113k 8& RAvursy

¢) Divisible by 11 and thrice by 2 o NnARYIR2AdTTaR

\Mn of these \Wmﬁ




5. What is the largest possible two digit 5.3 3®! @ Wad a3l Yuifda d@n o4 @ 8
number by which 2179782 can be divided ? @ 2179782 #! fRvifora fran o s 8 2

a) 88 a) 88 J \/ / v
b) 50 b) 50 2 | 3 Y FRa
c) 66 c) 66 ' >
d) 99 \/99 <}_+'? J“}‘l'}')"‘ (H",
A S | A




6. The value of k if k35624 is divisible by 11? 6. TR k35624 AWM B 1M1 ARk FTHF RNE?
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42573k faursg

72 then the value 7. o

is divisible by
k is divisi

7. 1f 42573

ofkis:

a) 4 L‘lg}gﬁlﬁ
by
a) 4 v\lg \/:)):/ ZHK——-S?—?,S,
b)5
v

d) 7 i
L
d) 7 e
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33. Let XYZ be a three-digit number, where (X  33. mﬁfbmz&a wuﬂwmt

+ Y + Z) is not a multiple of 3. Then (XYZ + WKT(X+Y+Z).3ﬁw=Iﬂ3I?ﬁ(XVZ+

YZX + ZXY) is not divisible by : YZX + Zxy) frad Rursa a8 8
rIZ UPSC PT 2020

c) 37 “——-1 7—2 c) 37

dX+Y+2 —-?'&“) dX+Y+2)
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34. How many integers are there between 1 34.1 Wiwtﬁﬁmﬁqﬂhtm
and 100 which have 4 as a digit but are not 3@ 48 AFPT A4 A RUM AT T2

divisible by 4 ? UPSC PT 2020
a) 5 a) 5 \L‘) 3\1/ L‘\IHL’
b) 11 | b) 11 —

MZ 12 l/\;)b‘glblé)l’l:]/ﬂ7

d) 13 d) 13 gj);ﬁ) 77
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1) What will be the day on 1** January 2011 1) 32 1 &=adl, 2007 & WAaR 8, &t 1 w=ad,
when 1% January 2007 is Sunday? 2011 uﬁmh-mf%?ﬁ'm

A. Monday A. BTHAR

. Ny B. HIT®AR
SVl _CAFAR
= TR D IIER—

@ Sunday E) TRa
) §
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3) Which of the following is a leap year? 3) FufsfRad s -are duad @2

4 o

b) 1400 b) 1400
¢) 3400 c) 3400
d) 3000 d) 3000
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4) The calendar for the year 2007 will be the 4) a4 2007 &1 $dsy Pu af & ST &

same for the year: HHH BRI 2
a) 2014 a) 2014
b) 2016 b) 2016

c) 2017 c) 17
018 2018
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5) Find out the day on which Ramesh was 5, 3 2000 # IW R} # wany, R =

l. It is a date, which is also a perfect I. 98 mt@w @ it 21
I T:e date next to his birthday is a Prime "'m 2 » e
number.
a) Only statement | is sufficient to answer
e o - a) gfmmﬁtﬂwmmlm
b) Only statement |l is sufficient to answer b) Uy &1 IO aﬁ t m m YT Il
the question gafa 21

¢) Both the statements are necessary to ) UN BT I 21 & fw I @y

the questio
\}/I':t:“of ‘t'he st:tements are not m;’mmﬁtmm

sufficient to answer the question. T B
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